
E-Practice 
Primary 3 Issue 3

1. Fill in the blanks with the correct numbers.

	 (a)	 (b)

	 (c)

 9 - 8 = 

90 - 80 = 

 900 - 800 = 

9000 - 8000 = 

      8 -  = 5

    80 -  = 50

  800 -  = 500

8000 -  = 5000

 - 3 = 3

 - 30 = 30

 - 300 = 300

 - 3000 = 3000

2. Fill in the blanks with the correct numbers.
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(g)
-

(h) 9876 – 1234 = 

(i)	7654 – 1234 = 

(j) 6543 – 1234 =  
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3. Complete the following number patterns.

	 (a) 123, 345, 567, 789, 

	 (b) 1234, 3456, 5678, 

	 (c) 8000, 6800, 5600, 

	 (d)               , 6889, 5778, 4667, 

	 (e) 9876, 7654, 5432, 
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5.	 Ms Seven had $7000.  She paid Dr Six $66 for medical fees.  Dr Six 
	 gave $55 to Madam Five.  How much money did Ms Seven have left?

4.	Fill in the empty cells to make the subtraction puzzles correct.
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6.	 Master Four had 4000 marbles.  He gave three hundred marbles to
	 Miss Three , eighty marbles to Eight Jr and seven marbles to 
	 Missy Seven.  How many marbles did Master Four have left? 

7.	 Prof Nine donated $9500 to the zoo and $5555 to the bird park. 
	 How much more did Prof Nine donate to the zoo than to the 
	 bird park?
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Answers

1. (a) 1, 10, 100, 1000   (b) 3, 30, 300, 3000   (c) 6, 60, 600, 6000

2. (a) 109  (b) 2109  (c) 1099  (d) 988  (e) 2099  (f) 4444  (g) 3087  (h) 8642  (i) 6420  (j) 5309

3. (a) 1011   (b) 7900   (c) 4400   (d) 8000, 3556   (e) 3210

4. 

5. 7000 - 66 = 6934
   Ms Seven had $6934 left.

6. 300 + 80 + 7 = 387
    4000 - 387 = 3613
    Master Four had 3613 marbles left.

7. 9500 - 5555 = 3945
    Prof Nine donated $3945 more to the zoo than to the bird park.
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